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not: hryk pRSn nUM iDAwnpUrvk piVAw jwvy[hryk pRSn 1 AMk dw hY[ hryk pRSn dy a`qr leI cwr ivklp 
hn ijMnHW iv`coN kyvl ie`k TIk hY[shI ivklp A`gy shI (  ) dw inSwn lgwau[ 

Note: Read all the questions carefully. Each question carries 1 mark. There are four options for each 
questions out of which only one is correct. Put a tick (  ) mark on the correct option. 

 
Q1: ਜ੃ਕਯ ਕਕ਷੃ ਵਯਗ ਦੀ ਬੁਜਾ ਨੂੂੰ  20% ਵਧਾ ਕਦਿੱ ਤਾ ਜਾਵ੃ ਤਾਂ ਇ਷ਦਾ ਖ੃ਤਯਪਰ ਕਕੂੰ ਨੇ % ਵਿੱ ਧ ਜਾਵ੃ਗਾ? 

If the side of a square is increased by 20% then by how much % the area of this square will be increased? 

(a) 20%   (b) 40%   (c) 80%   (d) 44% 
 

Q2: ਜ੃ਕਯ ਕਕ਷੃ ਕਤਿਬੁਜ ਦ੃ ਫਾਸਯੀ ਕ੅ਣਾਂ ਦਾ ਅਨੁ਩ਾਤ 3:4:5 ਸ੄ ਤਾਂ ਇਸ ਕਕ਷ ਤਯਹਾਂ ਦੀ ਕਤਿਬੁਜ ਸ੄? 

If exterior angles of a triangle are in the ratio 3:4:5 then which type of triangle is this? 

(a) ਷ਭਬੁਜੀ ਕਤਿਬੁਜ (Equilateral triangle)  (b) ਷ਭਕ੅ਣੀ ਕਤਿਬੁਜ (Right angled triangle) 

(c) ਕਨਊਨਕ੅ਣੀ ਕਤਿਬੁਜ (Acute angle triangle) (d) ਩ਤਾ ਨਸੀਂ ਕੀਤਾ ਜਾ ਷ਕਦਾ (can’t be determined) 

 

Q3: ਩ਕਸਰੀਆਂ 10 ਟਾਂਕ ਅਬਾਜ ਷ੂੰ ਕਖਆਵਾਂ ਦੀ ਭਿੱ ਕਧਕਾ ਩ਤਾ ਕਯ੅। 
Find the median of first 10 odd prime numbers. 
(a) 12   (b) 15   (c) 14   (d) 13 
 

Q4: x ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅ ਜ੃ਕਯ 2 + 7 + 12 +............+ x = 156 ਸ੄। 
Find the value of x when 2 + 7 + 12 +............+ x = 156. 
(a) 8   (b) 16   (c) 37   (d) 41  
 
 

Q5: ਕਦਿੱ ਤ੃ ਕਚਿੱ ਤਯ ਕਵਿੱ ਚ ਛਾਇਆਦਾਯ ਬਾਗ ਦਾ ਖ੃ਤਯਪਰ ਩ਤਾ ਕਯ੅। ਕਜਿੱ ਥ੃ ਕਕ o ਅਤ੃ o’ ਦ੅ ਛ੅ਟ੃ 
ਚਿੱ ਕਯਾਂ ਦ੃ ਕਿਭਵਾਯ ਕੇਂਦਯ ਸਨ ਅਤ੃ o ਅਤ੃ o’ ਵਿੱ ਡ੃ ਚਿੱ ਕਯ ਦ੃ ਕਵਆ਷ ਉੱਤ੃ ਷ਕਥਤ ਸਨ। 
Find the area of the shaded portion in the given figure where o and o’ are the 
centres of the two smaller circles. Also o and o’ lie on the diameter of the largest 
circle. 
(a) 16 𝜋 cm2  (b) 32 𝜋 cm2 (c) 30 𝜋 cm2   (d) 6 𝜋 cm2 

Q6: ਜਦੋਂ ਦ੅ ਩ਾਕ਷ਆਂ ਨੂੂੰ  ਇਕਿੱ ਠਾ ਉਛਾਕਰਆ ਜਾਂਦਾ ਸ੄ ਤਾਂ ਩ਕਸਰ੃ ਩ਾ਷੃ ਤ੃ ਇਿੱ ਕ ਕਜ਷ਤ ਷ੂੰ ਕਖਆ ਅਤ੃ ਦੂਜ੃ ਩ਾ਷੃ ਤ੃ ਕਤੂੰ ਨ ਦਾ ਗੁਣਜ ਩ਿਾ਩ਤ 
ਸ੅ਣ ਦੀ ਕੀ ਷ੂੰ ਬਾਵਨਾ ਸ੄? 
When two dice are rolled togather then what is the probability of getting an even number on the first dice and a 
multiple of 3 on the other dice? 
(a) 

5

6
    (b) 

1

6
    (c) 

1

3
   (d) 

1

2
 

 

Q7: ਇਿੱਕ ਷ੂੰ ਕਖਆ ਦੂਜੀ ਤੋਂ ਚਾਯ ਗੁਣੀ ਸ੄ ਤ੃ ਉਨਹ ਾਂ ਦਾ ਜ੅ੜ 20 ਸ੅ਵ੃ ਤਾਂ ਷ੂੰ ਕਖਆਵਾਂ ਸ੅ਣਗੀਆਂ: 
If one number is four times of another number and their sum is 20, then the numbers will be: 
(a) 16, 4   (b) - 16, – 4   (c) - 32,8   ( d) 24, - 6 

Q8: K, L ਦ੃ 40 ਭੀਟਯ ਦਿੱ ਖਣ-਩ਿੱਛਭ ਵਿੱ ਰ ਸ੄। ਜ੃ਕਯ M, L ਦ੃ 40 ਭੀਟਯ ਦਿੱ ਖਣ-਩ੂਯਫ ਵਿੱ ਰ ਸ੄ ਤਾਂ M, K ਦੀ ਕਕ਷ ਕਦਸ਼ਾ ਵਿੱ ਰ ਸ੄? 



K is 40 m South-West of L. If M is 40 m South-East of L, then M is in which direction of K? 

a) East   b) West   c) North-East  d) South-East 

 

Q9: ਜ੃ਕਯ x ਅਤ੃ y ਇਿੱ ਕ ਦੂ਷ਯ੃ ਦ੃ ਩ੂਯਕ ਕ੅ਣ ਸਨ ਤਾਂ ਸ੃ਠ ਕਰਕਖਆਂ ਕਵਿੱ ਚੋਂ ਕਕਸੜਾ ਸਭ੃ਸ਼ਾ ਠੀਕ ਸ੅ਵ੃ਗਾ: 
If x and y are complementary angles, then which of the following is always true? 
(a) sin x = sin y        (b) tan x = tan y    (c) cos x = cos y      (d) sec x = cosec y 
 
 

Q10: ਕਕ਷੃ ਵੀ ਕਤੂੰ ਨ ਰਗਾਤਾਯ ਩ਿਾਕਕਿਤਕ ਷ੂੰ ਕਖਆਵਾਂ ਦਾ ਗੁਣਨਪਰ ਸ੃ਠ ਕਰਕਖਆਂ ਕਵਿੱ ਚੋਂ ਕਕਸੜੀ ਷ੂੰ ਕਖਆ ਨਾਰ ਸਭ੃ਸ਼ਾ ਬਾਜਮ੅ਗ ਸੁੂੰ ਦਾ ਸ੄? 

The product of any three consecutive natural numbers is always divisible by which of the following number: 
a) 6  b) 8  c) 9  d) 4 
 
 

Q11. ਜ੃ਕਯ ਷ਭੀਕਯਣ 𝑥2 = 7𝑥 − (p + 1) ਦਾ ਇਿੱ ਕ ਭੂਰ ਦੁਿੱ ਜ੃ ਭੂਰ ਦਾ ਛ੃ ਗੁਣਾ ਸ੄ ਤਾਂ p ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅। 
If one root of the equation 𝑥2 = 7𝑥 − (p + 1) is six times of the other, then find the value of p. 
a) 7  b) 5  c) 8  d) 6 
 
 

Q12: ਜ੃ਕਯ ਦ੅ਘਾਤੀ ਫਸੁ਩ਦ 2𝑥2 + 5𝑥 −b ਦਾ ਇਿੱ ਕ ਕ਷ਪਯ 1 ਸ੄ ਤਾਂ b ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅। 
If one of the zero of the quadratic polynomial 2𝑥2 + 5𝑥 −b is  1 then value of b is: 
a) 2  b) 7  c) 5  d) – 7   
 

 

Q13: ਜ੃ਕਯ 𝛼 ਅਤ੃ 𝛽 ਫਸੁ਩ਦ 𝑥2 − 5𝑥 + 6 ਦ੃ ਭੂਰ ਸਨ ਤਾਂ 𝛼2𝛽 + 𝛽2𝛼 ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅। 
If 𝛼 and 𝛽 are the roots of the polynomial 𝑥2 − 5𝑥 + 6 then find the value of 𝛼2𝛽 + 𝛽2𝛼. 
a) 15  b) 12  c) 30  d) 10 

 

Q14:  ਜ੃ਕਯ ਦ੅ ਘਾਤੀ ਷ਭੀਕਯਣ 2𝑥2 − 15𝑥 + 𝑘 = 0 ਦ੃ ਭੂਰ 3:2 ਕਵਿੱ ਚ ਸ੅ਣ ਤਾਂ 𝑘 ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅। 
If the roots of the quadratic equation 2𝑥2 − 15𝑥 + 𝑘 = 0 are in the ratio 3:2 then find the value of 𝑘. 
(a) 54          (b) 15          (c) 12          (d) 27      
 

 

Q15: ਦ੅ ਷ੂੰ ਕਖਆਵਾਂ ਦਾ ਜ੅ੜ ਵਿੱ ਡੀ ਷ੂੰ ਕਖਆ ਦਾ 140% ਸ੄। ਜ੃ਕਯ ਛ੅ਟੀ ਷ੂੰ ਕਖਆ 30 ਸ੄ ਤਾਂ ਵਿੱ ਡੀ ਷ੂੰ ਕਖਆ ਩ਤਾ ਕਯ੅। 
The sum of two numbers is 140% of the bigger number. If the smaller number is 30 then find the bigger number.  
(a) 45  (b) 60  (c) 75  (d) 90 
 
 

Q16: ਜ੃ਕਯ ਦ੅ ਘਾਤੀ ਷ਭੀਕਯਣ (b – c) x² + (c – a) x + (a – b) = 0 ਦ੃ ਭੂਰ ਫਯਾਫਯ ਸ੅ਣ ਤਾਂ: 
The roots of the equation (b – c) x² + (c – a) x + (a – b) = 0 are equal, then 
(a) 2a = b + c           (b) 2c = a + b  (c) b = a + c  (d) 2b = a + c 
 

 

Q17: ਇਿੱਕ ਦ੅ ਅੂੰ ਕਾਂ ਵਾਰੀ ਅਕਜਸੀ ਷ੂੰ ਕਖਆ ਚੁਣਨ ਦੀ ਕੀ ਷ੂੰ ਬਾਵਨਾ ਸ੅ਵ੃ਗੀ ਜ੅ 3 ਨਾਰ ਬਾਜਮ੅ਗ ਸ੅ਵ੃ ਩ਯ 5 ਨਾਰ ਨਸੀਂ ? 

What is the probability of selecting a two digit number which is divisible by 3 but not divisible by 5? 

(a) 
2

15
    (b) 

4

90
    (c) 

1

15
   (d) 

4

15
 

 

Q18: A.P. : 92, 89, 86, 83............ ਦਾ ਕਕਸੜਾ ਩ਦ ਇ਷ਦਾ ਩ਕਸਰਾ ਕਯਣਾਤਭਕ ਩ਦ ਸ੅ਵ੃ਗਾ? 

Which term of the A.P. : 92, 89, 86, 83............ will be the first negative term? 
a) 30th   b) 31st    c) 32nd    d) 29th  
 

Q19: ਇਿੱਕ ਗ੅ਰ੃ ਦਾ ਕਵਆ਷ 2r ਸ੄। ਅ਷ੀਂ ਇ਷ ਨੂੂੰ  ਇ਷ ਦ੃ ਕੇਂਦਯ ਤੋਂ p ਇਕਾਈਆਂ ਦੀ ਦੂਯੀ ਤ੃ ਕਕ਷੃ ਤਰ ਨਾਰ  ਕਿੱ ਟਦ੃ ਸਾਂ ਕਜ਷ ਨਾਰ ਷ਾਨੂੂੰ  
ਇ਷ਦ੃ 2 ਬਾਗ ਩ਿਾ਩ਤ ਸੁੂੰ ਦ੃ ਸਨ। ਇਸਨਾਂ ਦ੅ ਟੁਕਕੜਆਂ ਦਾ ਕੁਰ ਷ਤਹਾਂ ਦਾ ਖ੃ਤਯਪਰ ਗ੅ਰ੃ ਦ੃ ਷ਤਹਾ ਦ੃ ਖ੃ਤਪਰ ਤੋਂ 37.5% ਵਿੱ ਧ ਸ੄। ਅਯਧ-
ਕਵਆ਷(r) ਦ੃ ਯੂ਩ ਕਵਿੱ ਚ p ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅।  
There is a sphere with its diameter as 2r. We cut it by a plane at a distance of p units from its center, so that the 
sphere is broken in two different pieces. The cumulative surface area of these two pieces is 37.5% more than that 
of the sphere. What is the value of p in terms of the radius(r)? 

(a) 
2𝑟

 3
   (b) 

𝑟

 3
    (c) 

𝑟

 2
   (d) 

𝑟

2
 

Q20: ਜ੃ਕਯ ਕਕ਷੃ ਷ੂੰ ਕਖਆ ਦ੃ 20% ਦਾ 30%,  72 ਸ੄ ਤਾਂ ਷ੂੰ ਕਖਆ ਩ਤਾ ਕਯ੅। 



If 20% of 30% of a number is 72 then find the number. 

(a) 120   (b) 12   (c) 2400  (d) 1200 
 

Q21:  ਕਦਿੱ ਤ੃ ਕਚਿੱ ਤਯ ਕਵਿੱ ਚ ∠P + ∠Q + ∠R + ∠S + ∠T ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅। 
In the given figure find ∠P + ∠Q + ∠R + ∠S + ∠T. 

(a) 150o                (b) 360o (c) 180o              (d) ਩ਤਾ ਨਸੀ ਕਯ ਷ਕਦ੃ (can’t be found) 
 

Q22.  ਕਦਿੱ ਤ੃ ਕਚਿੱ ਤਯ ਕਵਿੱ ਚ ਜ੃ਕਯ AB = AC, CD = CB ਅਤ੃ DE ∥ BC ਸ੄ ਤਾਂ ∠EDC ਦਾ ਭਾ਩ ਩ਤਾ ਕਯ੅। 

In the given figure if AB = AC, CD = CB and DE ∥ BC then find the measure of ∠EDC.  

(a) 40o   (b) 35o   (c) 15o   (d) 45o 

 

Q23:  ਕਫੂੰ ਦੂ (-4, 0), (4, 0), (0, 3) ਸ੃ਠ ਕਰਕਖਆਂ ਕਵਿੱ ਚੋਂ ਕਕ਷ਦ੃ ਕ਷ਖਯ ਕਫੂੰ ਦੂ ਸਨ? 
 The points (-4, 0), (4, 0), (0, 3) are the vertices of a: 

(а) ਷ਭਕ੅ਣ ਕਤਿਬੁਜ (Right angled triangle)  (b) ਷ਭਦ੅ਬੁਜੀ ਕਤਿਬੁਜ (Isosceles triangle) 
(c) ਷ਭਬੁਜੀ ਕਤਿਬੁਜ (Equilateral triangle)   (d) ਕਵਖਭਬੁਜੀ ਕਤਿਬੁਜ (Scalene triangle) 

 

Q24: ਇਿੱਕ ਚਿੱ ਕਯ, ਕਜ਷ਦਾ ਕੇਂਦਯ ਭੂਰ ਕਫੂੰ ਦੂ ਤ੃ ਸ੄, ਕਫੂੰ ਦੂ  13

2
, 0  ਕਵਿੱ ਚੋਂ ਰੂੰ ਘਦਾ ਸ੄। ਸ੃ਠ ਕਰਕਖਆਂ ਕਵਿੱ ਚੋਂ ਕਕਸੜਾ ਕਫੂੰ ਦੂ ਚਿੱ ਕਯ ਦ੃ ਅੂੰ ਦਯੂਣੀ 

ਬਾਗ ਕਵਿੱ ਚ ਨਸੀ ਸ੄? 
A circle drawn with origin as the centre passes through  

13

2
, 0 . The point which does not lie in the interior 

of the circle is: 

(a)  −
3

4
, 1    (b)  2,

7

3
    (c)  5,−

1

2
    (d)  −6,

7

2
  

 

Q25: sin 2A = 2 sin A ਷ਚ ਸ੅ਵ੃ਗਾ ਜਦੋਂ A = ? 

sin 2A = 2 sin A is true when A = ? 

(a) 30°   (b) 45°   (c) 0°   (d) 60° 
 

Q26: ਜ੃ਕਯ sin A + sin2A = 1 ਸ੄ ਤਾਂ (cos2A + cos4A) ਦਾ ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅। 
If sin A + sin2A = 1, then the value of the expression (cos2A + cos4A) is: 

(a) 1    (b) 0    (c) 2    (d) 3 
Q27: ਜ੃ਕਯ ਕਕ਷੃ 4 ਷ਭ ਅਯਧ-ਕਵਆ਷ ਵਾਰ੃ ਚਿੱ ਕਯ ਤ੃ ਇਿੱ ਕ ਕਫੂੰ ਦੂ ਤੋਂ ਕਖਚੀਆਂ ਸ੅ਇਆਂ ਦ੅ ਷਩ਯਸ਼ ਯ੃ਖਾਵਾਂ ਆ਩਷ ਕਵਿੱ ਚ 900 ਦ੃ ਕ੅ਣ ਤ੃ 
ਝੁਕੀਆਂ ਜ੅ਇਆਂ ਸ੅ਣ ਤਾਂ ਸਯ੃ਕ ਷਩ਯਸ਼ ਯ੃ਖਾ ਦੀ ਰੂੰ ਫਾਈ ਕੀ ਸ੅ਵ੃ਗੀ? 

If two tangets, inclined at an angle 900, are drawn to a circle of radius 4 cm, then the length of each of the tangents 

is equal to: 

a) 4 cm   b) 4 3   c) 2 cm   d) 2 2 cm  
 

Q28: ਇਿੱਕ ਠੋ਷ ਧਾਤੂ ਦ੃ ਗ੅ਰ੃ ਦਾ ਬਾਯ 44 ਕਕ.ਗਿਾ. ਸ੄। ਇਿੱ ਕ ਖ੅ਖਰਾ ਅਯਧ-ਗ੅ਰਾ ਵੀ ਇ਷੃ ਧਾਤੂ ਦਾ ਫਕਣਆ ਸ੅ਇਆ ਸ੄। ਜ੃ਕਯ ਗ੅ਰ੃ ਦਾ 
ਅਯਧ-ਕਵਆ਷ ਅਤ੃ ਅਯਧ-ਗ੅ਰ੃ ਦ੃ ਫਾਸਯੀ ਅਯਧ-ਕਵਆ਷ ਦਾ ਅਨੁ਩ਾਤ 1:2 ਸ੄ ਅਤ੃ ਅਯਧ-ਗ੅ਰ੃ ਦਾ ਅੂੰ ਦਯੂਣੀ ਅਯਧ-ਕਵਆ਷ ਇ਷ਦ੃ 
ਫਾਸਯੀ ਅਯਧ-ਕਵਆ਷ ਦਾ 50% ਸ੄ ਤਾਂ ਅਯਧ-ਗ੅ਰ੃ ਦਾ ਬਾਯ ਩ਤਾ ਕਯ੅। 
A solid metallic sphere have weight 44 kg. There is a hollow hemi-sphere made of the same metal. If the ratio of 
radius of sphere to the outer radius of the hemi-sphere is 1:2 and the inner radius of the hemi-sphere is 50% of 
that of its outer radius then find the weight of the hollow hemi-sphere. 

(a) 77 kg  (b) 154 kg  (c) 308 kg  (d) 176 
kg 
     



Q29:  ਕਦਿੱ ਤ੃ ਸ੅਋ ਕਚਿੱ ਤਯ ਕਵਿੱ ਚ ABC ਇਿੱ ਕ ਷ਭਕ੅ਣੀ ਕਤਿਬੁਜ ਸ੄ ਕਜਿੱ ਥ੃ ਕ੅ਣ B ਷ਭਕ੅ਣ ਸ੄। ਬੁਜਾਵਾਂ BC ਅਤ੃ AC ਦਾ ਅਨੁ਩ਾਤ 4:5 ਸ੄। ਇ਷ 
ਕਤਿਬੁਜ ਦਾ ਖ੃ਤਯਪਰ 96 ਵਯਗ ਷ਭ ਸ੄। ਇ਷ ਕਵਿੱ ਚ ਫਣ੃ ਅੂੰ ਦਯੂਣੀ ਚਿੱ ਕਯ ਦਾ ਅਯਧ-ਕਵਆ਷ ਩ਤਾ ਕਯ੅। 
In the given figure ABC is a right angled triangle with angle B as right angle. The ratio of side BC to side AC is 4:5. 
The area of the triangle ABC is 96 cm2. Find the radius of the incircle of the triangle. 

(a) 2 cm                (b) 3 cm (c) 4 cm    (d) ਩ਤਾ ਨਸੀਂ ਕਯ ਷ਕਦ੃ (can’t be found) 

Q30: ਜ੃ AWAKE ਨੂੂੰ  ZVZJD ਕਰਕਖਆ ਜਾਂਦਾ ਸ੄, ਤਾਂ FRIEND ਕਕਵੇਂ ਕਰਕਖਆ ਜਾਵ੃ਗਾ? 

If AWAKE is written as ZVZJD, how will FRIEND be written? 
a)  EQHDCH           b) EQHHCD          c) EQDHHC   d)  EQHDMC 

Q31: ਕਦਿੱ ਤ੃ ਗ਋ ਚਾਯ ਕਵਕਰ਩ਾਂ (a), (b), (c), (d) ਕਵਚੋਂ ਕਚਿੱ ਤਯ (x) ਦਾ ਷ਸੀ ਩ਾਣੀ-ਕਚਿੱ ਤਯ ਚੁਣ੅: 
choose the correct water-image of the figure (x) from amongst the four alternatives (a), (b), (c), (d) given along 

with it. 

 

 
 
 
 
 

 

Q32:id`qI geI lVI iv`c ‘?’ dI ਥW ‘qy hyT ilKIAW ivc̀oN ikhVI sMiKAw AwvygI? 
 Find the number which will replace the ‘?’ in the given sequence: 2, 12, 36, 80, 150, 252, ? 
a) 354   b) 424   c) 300   d) 392 

Q33: P, Q ਅਤ੃ R ਦਾ ਬਯਾ ਸ੄ ਅਤ੃ S, R ਦੀ ਭਾਂ ਸ੄. T, P ਦਾ ਕ਩ਤਾ ਸ੄. ਸ੃ਠਾਂ ਕਦਿੱ ਤ੃ ਕਕਸੜ੃ ਕਥਣ ਦ੃ ਗਰਤ ਸ੅ਣ ਦੀ ਷ੂੰ ਬਾਵਨਾ ਸ੄? 

P is the brother of Q and R.   S is R’s mother. T is P’s father. Which of the following statement can not be definitely 

true? 

a) Q, T ਦਾ ਩ੁਿੱ ਤਯ ਸ੄ (Q is T’s son)  b) T, Q ਦਾ ਕ਩ਤਾ ਸ੄ (T is Q’s father) 

c) S, P ਦੀ ਭਤਾ ਸ੄ (S is P’s mother) d) P, S ਦਾ ਩ੁਿੱ ਤਯ ਸ੄। (P is S’s son) 

 Q34: sMiKAw 4 vwly Plk dy ault Plk ‘qy ikhVI sMiKAw ilKI hovygI? 

Which digit will appear on the face opposite to the face with number 4?  

       a) 3  b) 5  c) 6  d) 1 

 

Q35: ਜ੃ਕਯ ਭਸੀਨੇ ਦਾ ਦੂਜਾ ਕਦਨ ਸੁਿੱ ਕਯਵਾਯ ਸ੄, ਤਾਂ ਅਗਰ੃  ਭਸੀਨੇ ਦਾ ਅਖੀਯਰਾ ਕਦਨ ਕੀ ਸ੅ਵ੃ਗਾ ਕਜ਷ ਦ੃ 31 ਕਦਨ ਸਨ ? 

If the second day of a month is a Friday, which of the following would be the last day of the next month 

which has 31 days? 

a) ਸ਼ਨੀਵਾਯ (Saturday)    b) ਷੅ਭਵਾਯ (Monday)      
c) ਭੂੰਗਰਵਾਯ (Tuesday)   d) ਡਾਟਾ ਩ੂਯਾ ਨਸੀ ਸ੄। (Data inadequate) 


